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Paper 1

Hong Kong Attainment Test
BEEER AR

(Pre-Secondary 1 #— A EH()

Mathematics
S 5

Mock Paper 1
i2kistE 1

NERLEZH

P.6 First Term

A5 1

Time allowed for the test: 50 minutes
R BRBFR L 5004

Instructions:

1. This test contains two sections:
Section A: Questions 1 — 30
Section B: Questions 31 — 36

Answer ALL questions.
Write your answers on the answer sheet.
Write your Name, Class and Class Number on the answer sheet.

A

You may do your rough work in the blank space of this test booklet and there is
no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the questions.

7. The use of calculator is not allowed.

B4AEM:
1. R B B3 A R4
Wi HE 1524 308
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Note: AR
Not all diagrams are drawn to scale. o MIE KL FligE o

Section ° (60 marks) e B (60 5)

Choose the correct answer. You only need to  EHEIFEHNER - B4 HEE FrEESE
write down the letter preceding the selected  FIME X F&
answer.

1. In the number 340 219, how many 1. /& 340 219&@F P » [4] a9 1E

times of the value of ‘2’ is that of ‘4’? 2285 % vz 2
A. 0.005 A. 0.005

B. 2 B. 2

C. 100 C. 100

D. 200 D. 200

2. How many ‘1.5’s should be added 2. %0 M@E[1.5]48mi% 44552 30 ?
together to make the sum of 30?

A 2 A. 2

B. 20 B. 20
C. 30 C. 30
D. 45 D. 45

3. Which of the following options gives 3. WM T —1EERE a2
the smallest value?

A rE X132 -1
B. 22+ 25— 1y
C. 84+ 1235
D 6%+(3%—%)

6 G4 - 1B 1 @



Section 0 (40 marks)

Working steps must be shown in answering
qguestions in this section unless specified
otherwise.

e B (40 %)

BRATRITEBRSN - ERIZEANEBREER - A 5T
LR

31.

Cathy used some plastic sticks and
plastic balls to make two solids
as shown above. Each solid was
formed by a pyramid and a prism
respectively.

(a) A plastic stick cost $0.9 and a
plastic ball cost $0.6. What was
the total material cost of these

two solids?
[4 marks]

(b) Cathy decided to make another
solid which was formed by
a pentagonal pyramid and a
pentagonal prism. How many
faces were there in this solid?

(Give the answer only)
[2 marks]

31.
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Hong Kong Attainment Test
BEBERHIER

Pre-Secondary 1 Mathematics

h— A E i ER
Mock Paper 1 &% 1

S ( Answer Sheet ZE#K ]
5
o
Name
£ (English) (F32)
Class Class No.
R - ESE -
Total Marks

. You only need to write down the letter preceding
Section o Emrks) the selected answer. (2 marks each)

@%‘B (60 7)) EBAERBELABEZRIINANFE - (BE27)

1 6 11 16. 21 26
2 7 12 17. 22 27
3 8 13 18. 23 28
4 9 14 19. 24 29
5 10 15 20. 25 30

REHMEBAT3A 1B (6 FH) - BEHE 1 © BTHA HhRit



- Working steps must be shown in answering questions Teacher's use only
Section 0 (40 marks) i this section unless specified otherwise. A
e EB (40 ) BREFRIISEASD > EEIBAEPEIERE » HIHFTEDSER -
Marks
(GPa)

31 (a).

4
31 (b).

There were faces in this solid.
1A SR B o

2

32 (a).
The volume of each cube is
A8 IE 7y B2 a9 R AR cm’ °

2
32 (b).

4
33 (a).

4
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